
MATHS

BOOKS - V PUBLICATION

INTEGRALS

Question Bank

1. Write an antiderivative for each of the following functions

using the method of inspection.

i) 


ii) 


iii) 

Watch Video Solution

cos 2x

3x2 + 4x3

, x ≠ 0
1

x

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_RBwWM0YH6J64


2. Find the following integrals:

i) 


ii) 


ifi) 

Watch Video Solution

∫ dx
x3 − 1

x2

∫(x + 1)dx
2
3

∫( + 2ex − )dx
x2

3

1

x

3. Find the following integrals.
 i)  ii) 


iii) 

Watch Video Solution

∫(sinx + cos x)dx

∫(cos ecx(cos ecx + cot x)dx ∫ dx
1 − sinx

cos2 x

4. Find the antiderivative F of  defined by ,

where 

W t h Vid S l ti

f f(x) = 4x3 − 6

F (0) = 3

https://dl.doubtnut.com/l/_RBwWM0YH6J64
https://dl.doubtnut.com/l/_mX6j9lRREw64
https://dl.doubtnut.com/l/_W2XrhPs3idjP
https://dl.doubtnut.com/l/_uyv2tzE7lfJ6


Watch Video Solution

5. Find the antiderivative (or integral) of the following functions

by the method 

of inspection. sin2x

Watch Video Solution

6. Find the antiderivative (or integral) of the following functions

by the method 

of inspection. cos3x

Watch Video Solution

7. Find the antiderivative (or integral) of the following functions

by the method 

https://dl.doubtnut.com/l/_uyv2tzE7lfJ6
https://dl.doubtnut.com/l/_bUaII7MwHoGR
https://dl.doubtnut.com/l/_n8k3OFiUQA2Z
https://dl.doubtnut.com/l/_8r2BYqfbvXxm


of inspection. 

Watch Video Solution

e2x

8. Find the antiderivative (or integral) of the following functions

by the method 

of inspection. 

Watch Video Solution

(ax + b)2

9. Find the antiderivative (or integral) of the following functions

by the method of inspection. 

Watch Video Solution

sin 2x − 4e3x

10. Find the integrals ∫(4e3x + 1)dx

https://dl.doubtnut.com/l/_8r2BYqfbvXxm
https://dl.doubtnut.com/l/_Nso6gbjw1apN
https://dl.doubtnut.com/l/_Oagg64AejzJX
https://dl.doubtnut.com/l/_IR4nQL8vFyQd


Watch Video Solution

11. Evaluate the following integrals 

Watch Video Solution

∫x2(1 − )dx
1

x2

12. Evaluate the following integrals 

Watch Video Solution

∫(ax2 + bx + c)dx

13. Evaluate the following integrals 

Watch Video Solution

∫(2x2 + ex)dx

https://dl.doubtnut.com/l/_IR4nQL8vFyQd
https://dl.doubtnut.com/l/_EURFe9JMxF4R
https://dl.doubtnut.com/l/_ytX34eyh4Hx5
https://dl.doubtnut.com/l/_LaoVuT1MmxCO


14. Find the integrals 

Watch Video Solution

∫(√x − )

2

dx
1

√x

15. Evaluate the following integrals: 

Watch Video Solution

∫ dx
x3 + 5x2 − 4

x2

16. Evaluate the following integrals: 

Watch Video Solution

∫ dx
x3 + 3x + 4

√x

17. Evaluate the following integrals 

Watch Video Solution

∫ dx
x3 − x2 + x − 1

x − 1

https://dl.doubtnut.com/l/_7iK4s6SuhnKC
https://dl.doubtnut.com/l/_LRxwlkoZsERv
https://dl.doubtnut.com/l/_tMcEvOpLzTod
https://dl.doubtnut.com/l/_bFX5HaKfPdig


18. Evaluate the following integrals 

Watch Video Solution

∫(1 − x)√xdx

19. Find the integrals 

Watch Video Solution

∫(√x(3x2 + 2x + 3)dx

20. Evaluate the following integrals 

Watch Video Solution

∫(2x − 3 cos x + ex)dx

21. Find the integrals 

Watch Video Solution

∫(2x2 − 3 sinx + 5√x)dx

https://dl.doubtnut.com/l/_bFX5HaKfPdig
https://dl.doubtnut.com/l/_sqvlS8tLuP5J
https://dl.doubtnut.com/l/_Gw3CMvS3BpKB
https://dl.doubtnut.com/l/_pChLheHcnq1H
https://dl.doubtnut.com/l/_O5TCLbtVuHSI


22. Find the integrals 

Watch Video Solution

∫secx(secx + tanx)dx

23. Find the following integrals. 

Watch Video Solution

∫ dx
sec2 x

cos ec2x

24. Find the integral 

Watch Video Solution

∫ dx
2 − 3 sinx

cos2 x

https://dl.doubtnut.com/l/_O5TCLbtVuHSI
https://dl.doubtnut.com/l/_pHpaQ2jx6yRA
https://dl.doubtnut.com/l/_12is2sQmr4V3
https://dl.doubtnut.com/l/_KDtDDwJPmnIp


25. The anti derivative of is a)  b)

 c)  d)

A. 1/3 x^(1/3)+2 x^(1/2)+C'

B. 2/3 x^(2/3)+1/2 x^2+C'

C. 2/3 x^(3/2)+2 x^(1/2)+C'

D. 3/2 x^(3/2)+1/2 x^(1/2)+C'

Answer: C

Watch Video Solution

√x +
1

√x
x + 2x + C

1

3

1
3

1
2

x + x2 + C
2

3

2
3

1
2

x + 2x + C
2

3

3
2

1
2 x + x + C

3
2

3
2

1
2

1
2

26. If  such that , then  is a)

 b)  c)  d)

f(x) = 4x3 −
d

dx

3

x4
f(2) = 0 f(x)

x4 + −
1

x3

129

8
x3 + +

1

x4

129

8
x4 + +

1

x3

129

8

x3 + −
1

x4

129

8

https://dl.doubtnut.com/l/_JNR8tFcK8gnn
https://dl.doubtnut.com/l/_6rQgFIZtVGL9


A. x^4+1/x^3-(129)/8'

B. x^3+1/x^4 + (129)/8'

C. x^4+1/x^3+(129)/8'

D. x^3+1/x^4-(129)/8'

Answer: A

Watch Video Solution

27. Integrate the following functions w.r.t.  

i) 


ii) 


iii) 


iv) 

Watch Video Solution

x

sinmx

2x sin(x2 + 1)

tan4 √x sec2 √x

√x

sin(tan− 1 x)

1 + x2

https://dl.doubtnut.com/l/_6rQgFIZtVGL9
https://dl.doubtnut.com/l/_z4O9vWATBdiW


28. Find the following integrals:

i) 

ii) 


iii) 


Watch Video Solution

∫(sin3 x cos2 x)dx

∫ dx
sinx

sin(x + a)

∫ dx
1

1 + tanx

29. Integrate the function 

Watch Video Solution

2x

1 + x2

30. Integrate the following functions 

Watch Video Solution

(logx)2

x

https://dl.doubtnut.com/l/_z4O9vWATBdiW
https://dl.doubtnut.com/l/_c5uidYyo63Uu
https://dl.doubtnut.com/l/_zjFneLcy6Lu5
https://dl.doubtnut.com/l/_FilUPVguvbtv
https://dl.doubtnut.com/l/_hefciDXDCsLW


31. Integrate the following functions 

Watch Video Solution

1

x + x logx

32. Integrate the function 

Watch Video Solution

sinx sin(cos x)

33. Integrate the following functions sin(ax+b) cos(ax+b).

Watch Video Solution

34. Integrate the following functions 

Watch Video Solution

√ax + b

https://dl.doubtnut.com/l/_hefciDXDCsLW
https://dl.doubtnut.com/l/_3pZqfx9X9AdV
https://dl.doubtnut.com/l/_9O3fpqzFEJeK
https://dl.doubtnut.com/l/_Soc7SWgonX8Z
https://dl.doubtnut.com/l/_wWahgOaLJCMQ


35. Integrate the following functions 

Watch Video Solution

x√x + 2

36. Integrate the function 

Watch Video Solution

x√1 + 2x2

37. Integrate the following functions 

Watch Video Solution

(4x + 2)√x2 + x + 1

38. Integrate the following functions 

Watch Video Solution

1

x − √x

https://dl.doubtnut.com/l/_wWahgOaLJCMQ
https://dl.doubtnut.com/l/_4oZiJvSbp7us
https://dl.doubtnut.com/l/_cbvFdX5cTaZy
https://dl.doubtnut.com/l/_SpMJEaSCd7YB


39. integrate the function 

Watch Video Solution

, x > 0
x

√x + 4

40. Integrate the function 

Watch Video Solution

(x3 − 1) x5
1
3

41. Integrate the following functions 

Watch Video Solution

x2

(2 + 3x3)3

42. Integrate the following functions 

Watch Video Solution

1

x(logx)m, x > 0

https://dl.doubtnut.com/l/_Rn4tmULcgMqc
https://dl.doubtnut.com/l/_kooU0TxERsae
https://dl.doubtnut.com/l/_GLbwXa3tzI03
https://dl.doubtnut.com/l/_Xpq0dygMEChR


43. Integrate the function 

Watch Video Solution

x

9 − 4x2

44. Integrate the function 

Watch Video Solution

e2x+ 3

45. Integrate the function 

Watch Video Solution

x

ex
2

46. Integrate the following functions 

Watch Video Solution

etan − 1 x

1 + x2

https://dl.doubtnut.com/l/_Xpq0dygMEChR
https://dl.doubtnut.com/l/_efULQHN2Nazj
https://dl.doubtnut.com/l/_xMlKkKsxiUYM
https://dl.doubtnut.com/l/_q2VO9x836UAq
https://dl.doubtnut.com/l/_e3vGRvThLY3c


47. Integrate the function 

Watch Video Solution

e2x − 1

e2x + 1

48. Integrate the following functions 

Watch Video Solution

e2x − e− 2x

e2x + e− 2x

49. Integrate the function 

Watch Video Solution

tan2(2x − 3)

50. Integrate the function 

Watch Video Solution

sec2(7 − 4x).

https://dl.doubtnut.com/l/_e3vGRvThLY3c
https://dl.doubtnut.com/l/_56wJKKoCjy7h
https://dl.doubtnut.com/l/_h00FLyZoSNhl
https://dl.doubtnut.com/l/_HVZVRY4aU9ht
https://dl.doubtnut.com/l/_OqPuYDCjEsPO


51. Integrate the following functions: 

Watch Video Solution

sin− 1 x

√1 − x2

52. Integrate the function 

Watch Video Solution

2 cos x − 3 sinx

6 cos x + 4 sinx

53. Integrate the following functions 

Watch Video Solution

1

cos2 x(1 − tanx)2

54. Integrate the function 
cos √x

√x

https://dl.doubtnut.com/l/_OqPuYDCjEsPO
https://dl.doubtnut.com/l/_QURykSliUW01
https://dl.doubtnut.com/l/_p6IP6mXgnHMz
https://dl.doubtnut.com/l/_I9BgMNEOtw5R
https://dl.doubtnut.com/l/_EamCLWMTjReq


Watch Video Solution

55. Integrate the function 

Watch Video Solution

√sin 2x cos 2x

56. Integrate the function 

Watch Video Solution

cos x

√1 + sinx

57. Integrate the function 

Watch Video Solution

cot x log sinx

58. Integrate the function 
sinx

1 + cos x

https://dl.doubtnut.com/l/_EamCLWMTjReq
https://dl.doubtnut.com/l/_d36xdeKhgUtb
https://dl.doubtnut.com/l/_qwe3KVjgPF0I
https://dl.doubtnut.com/l/_MKAEDrqqPfG0
https://dl.doubtnut.com/l/_OKK2cBW8RaGP


Watch Video Solution

59. Integrate the function 

Watch Video Solution

sinx

(1 + cos x)2

60. Integrate the function 

Watch Video Solution

1

1 + cot x

61. Integrate the function 

Watch Video Solution

1

1 − tanx

https://dl.doubtnut.com/l/_OKK2cBW8RaGP
https://dl.doubtnut.com/l/_iQFXy6gDOFph
https://dl.doubtnut.com/l/_CtDkH9nyNml8
https://dl.doubtnut.com/l/_k9P76d3Da8qR


62. Integrate the function 

Watch Video Solution

√tanx

sinx cos x

63. Integrate the function 

Watch Video Solution

(1 + logx)
2

x

64. Integrate the following functions 

Watch Video Solution

(x + 1)(x + logx)2

x

65. Integrate the function 

Watch Video Solution

x3 sin(tan− 1 x4)

1 + x8

https://dl.doubtnut.com/l/_LTdZ1AJw1T0m
https://dl.doubtnut.com/l/_N5aDG7zhldXu
https://dl.doubtnut.com/l/_ERPKUxZgGMEn
https://dl.doubtnut.com/l/_kVkwZm6L9Wzr


66.  equal a)  b)

 c)  d)

A. 10^x-x^(10)+C'

B. 10^x+x^(10)+C'

C. (10^x-x^(10))^-1+C '

D. log (10^x+x^(10))+C'

Answer: D

Watch Video Solution

∫ dx
10x9 + 10x loge 10

x10 + 10x
10x − x10 + C

10x + x10 + C (10x − x10)
− 1

+ C log(10x + x10) + C

67.  equals a)  b) 

 c)  d)

∫
dx

sin2 x cos2 x
tanx + cot x + C

tanx − cot x + C tanx cot x + C tanx − cot 2x + C

https://dl.doubtnut.com/l/_kVkwZm6L9Wzr
https://dl.doubtnut.com/l/_npQZDXTuEupC
https://dl.doubtnut.com/l/_mJYqJis1H4jZ


A. tan x+cot x+C'

B. 'tan x-cot x+C'

C. tan x cot x+C'

D. tan x-cot 2 x+C'

Answer: B

Watch Video Solution

68. Find i) 


ii) 


iii) 

Watch Video Solution

∫(cos2 x)dx

∫(sin 2x cos 3x)dx

∫(sin3 x)dx

https://dl.doubtnut.com/l/_mJYqJis1H4jZ
https://dl.doubtnut.com/l/_VzHo0Dx2mlF5


69. Find the integrals 

Watch Video Solution

sin2(2x + 5)

70. Find the integrals 

Watch Video Solution

sin 3x cos 4x

71. Find the integrals 

Watch Video Solution

cos 2x cos 4x cos 6x

72. Find the integral 

Watch Video Solution

sin3(2x + 1)

https://dl.doubtnut.com/l/_2DUxMa5WRTMF
https://dl.doubtnut.com/l/_RNPvXqw28jOr
https://dl.doubtnut.com/l/_jBrzeruEtIw9
https://dl.doubtnut.com/l/_16RWFcpnUOif


73. Find the integral 

Watch Video Solution

sin3 x cos3 x

74. Find the integrals 

Watch Video Solution

sinx sin 2x sin 3x

75. Find the integral 

Watch Video Solution

sin 4x sin 8x

76. Find the integral 
1 − cos x

1 + cos x

https://dl.doubtnut.com/l/_16RWFcpnUOif
https://dl.doubtnut.com/l/_WQrY05g68Zes
https://dl.doubtnut.com/l/_vVoVlYodpxlC
https://dl.doubtnut.com/l/_Ph19WNlhyOjK
https://dl.doubtnut.com/l/_SeiPJ3NAGqKu


Watch Video Solution

77. Find the integral 

Watch Video Solution

cos x
1 + cos x

78. Find the integral 

Watch Video Solution

sin4 x

79. Find the integral 

Watch Video Solution

cos4 2x

80. Find the integral 
sin2 x

1 + cos x

https://dl.doubtnut.com/l/_SeiPJ3NAGqKu
https://dl.doubtnut.com/l/_niqe9mhEDPYc
https://dl.doubtnut.com/l/_dIXCIMx4asbM
https://dl.doubtnut.com/l/_Yc8Xd1S9CLOj
https://dl.doubtnut.com/l/_UOwl6ZdEK2Pj


Watch Video Solution

81. Find the integral 

Watch Video Solution

cos 2x − cos 2α

cos x − cosα

82. Find the integral 

Watch Video Solution

cos x − sinx

1 + sin 2x

83. Find the integral 

Watch Video Solution

tan3 2x sec 2x

84. Find the integral tan4 x

https://dl.doubtnut.com/l/_UOwl6ZdEK2Pj
https://dl.doubtnut.com/l/_i6TTkvwFT8oQ
https://dl.doubtnut.com/l/_0JmpgMaSb70a
https://dl.doubtnut.com/l/_YvfSTcacOb3Q
https://dl.doubtnut.com/l/_iEQik61KP4BA


Watch Video Solution

85. Integrate the following functions: 

Watch Video Solution

sin3 x + cos3 x

sin2 x cos2 x

86. Integrate the following functions: 

Watch Video Solution

cos 2x + 2 sin2 x

cos2 x

87. Find the integral 

Watch Video Solution

1

sinx cos3 x

https://dl.doubtnut.com/l/_iEQik61KP4BA
https://dl.doubtnut.com/l/_kew5Q5t3RQta
https://dl.doubtnut.com/l/_G1v2NraebdRH
https://dl.doubtnut.com/l/_BHKQr3IcKaG8


88. Find the integral 

Watch Video Solution

cos 2x

(cos x + sinx)2

89. Find the integral 

Watch Video Solution

sin− 1(cos x)

90. Find the integrals 

Watch Video Solution

1

cos(x − a)cos(x − b)

91.  is equal to a)  b)

 c)  d)

∫ dx
sin2 x − cos2 x

sin2 x cos2 x
tanx + cot x + C

tanx + cos ecx + C −tanx + cot x + C

https://dl.doubtnut.com/l/_iJLRmcT4HA6F
https://dl.doubtnut.com/l/_ps10NnD5AfhF
https://dl.doubtnut.com/l/_vxFSOOR0uplG
https://dl.doubtnut.com/l/_gLz5t808SQ6H


A. tan x+cot x+C'

B. tan x+operatornamecosec x+C'

C. -tan x+cot x+C'

D. tan x+sec x+C'

Answer: A

Watch Video Solution

tanx + secx + C

92.  equals a)  b)  c)

 d)

A. -cot (e x^x) C'

B. tan (x e^x)+C'

∫ dx
ex(1 + x)

cos2(exx)
−cot(exx) + C tan(xex) + C

tan(ex) + C cot(ex) + C

https://dl.doubtnut.com/l/_gLz5t808SQ6H
https://dl.doubtnut.com/l/_01oc7oaZ2X3v


C. tan (e^x)+C'

D. cot (mathbfe^x)+mathbfC'

Answer: B

Watch Video Solution

93. Find 

Watch Video Solution

∫ dx
1

√2x − x2

94. Find the following integrals:

i) 


ii) 


iii) .

Watch Video Solution

∫
dx

x2 − 6x + 13

∫
dx

3x2 + 13x − 10

∫
dx

√5x2 − 2x

https://dl.doubtnut.com/l/_01oc7oaZ2X3v
https://dl.doubtnut.com/l/_GV2qOoVqf1IT
https://dl.doubtnut.com/l/_y5uma6EBRjh7


Watch Video Solution

95. Integrate 

Watch Video Solution

∫ dx
x + 2

2x2 + 6x + 5

96. Integrate the function 

Watch Video Solution

3x2

x6 + 1

97. integrate the function 

Watch Video Solution

1

√1 + 4x2

98. Integrate the following functions 
1

√(2 − x)2 + 1

https://dl.doubtnut.com/l/_y5uma6EBRjh7
https://dl.doubtnut.com/l/_C7msOJmj4Mjf
https://dl.doubtnut.com/l/_cZTtpEPDbJy4
https://dl.doubtnut.com/l/_W7y7vIl81zFw
https://dl.doubtnut.com/l/_cPczFXSVfxg9


Watch Video Solution

99. integrate the function 

Watch Video Solution

1

√9 + 25x2

100. Integrate the function 

Watch Video Solution

3x

1 + 2x4

101. Integrate the following functions 

Watch Video Solution

x2

1 − x6

https://dl.doubtnut.com/l/_cPczFXSVfxg9
https://dl.doubtnut.com/l/_xg5VyXUK5kPi
https://dl.doubtnut.com/l/_X8fjtSxONI3m
https://dl.doubtnut.com/l/_pL1XGecDwgcI


102. Integrate the following functions 

Watch Video Solution

x − 1

√x2 − 1

103. Integrate the following functions 

Watch Video Solution

x2

√x6 + a6

104. Integrate the following functions 

Watch Video Solution

sec2 x

√tan2 x + 4

105. Integrate the following functions 

Watch Video Solution

1

√x2 + 2x + 2

https://dl.doubtnut.com/l/_tCoKiv0HT0yK
https://dl.doubtnut.com/l/_1UYDpASoOrEU
https://dl.doubtnut.com/l/_iRBaUrPbZ77p
https://dl.doubtnut.com/l/_OSOynAo1GK3F


106. integrate the function 

Watch Video Solution

1

9x2 + 6x + 5

107. Integrate the following functions 

Watch Video Solution

1

7 − 6x − x2

108. Integrate the following functions 

Watch Video Solution

1

√(x − 1)(x − 2)

109. Integrate the following functions 

Watch Video Solution

1

√8 + 3x − x2

https://dl.doubtnut.com/l/_OSOynAo1GK3F
https://dl.doubtnut.com/l/_7f83OlNlT2Xg
https://dl.doubtnut.com/l/_UxfM1lBOMMYt
https://dl.doubtnut.com/l/_w9RyHWF4C4mP
https://dl.doubtnut.com/l/_Jg9kQN0TM4mh


110. Integrate the following functions 

Watch Video Solution

1

√(x − a)(x − b)

111. Integrate the following functions 

Watch Video Solution

4x + 1

√2x2 + x − 3

112. integrate the function 

Watch Video Solution

x + 2

√x2 − 1

113. integrate the function 
5x − 2

1 + 2x + 3x2

https://dl.doubtnut.com/l/_Jg9kQN0TM4mh
https://dl.doubtnut.com/l/_fUQsdJ3GrDDG
https://dl.doubtnut.com/l/_gGIlFex4qQus
https://dl.doubtnut.com/l/_tnKdEsy9t4Tt
https://dl.doubtnut.com/l/_DHdnfmw4RfKS


Watch Video Solution

114. Integrate the function 

Watch Video Solution

6x + 7

√(x − 5)(x − 4)

115. Integrate the function 

Watch Video Solution

x + 2

√4x − x2

116. integrate the function 

Watch Video Solution

x + 2

√x2 + 2x + 3

https://dl.doubtnut.com/l/_DHdnfmw4RfKS
https://dl.doubtnut.com/l/_LJDgQuHmJez8
https://dl.doubtnut.com/l/_PmkUqj3QabNK
https://dl.doubtnut.com/l/_LN4eKZSQ65P6


117. integrate the functions 

Watch Video Solution

x + 3

x2 − 2x − 5

118. Integrate the functions 

Watch Video Solution

5x + 3

√x2 + 4x + 10

119. Find the following: 

A. x tan ^-1(x+1)+C'

B. tan ^-1(x+1)+C'

∫ dx
1

x2 + 2x + 2

https://dl.doubtnut.com/l/_WF2eRvGqx7e3
https://dl.doubtnut.com/l/_6cljJcXhfdTi
https://dl.doubtnut.com/l/_8n8ouAC0N66n


C. (x+1) tan ^-1 x+C'

D. tan ^-1 x+C'

Answer: B

Watch Video Solution

120. Find 

A. 

B. .

C. 

D. 

Answer: B

Watch Video Solution

∫
dx

√9x − 4x2

19 sin− 1(9x − 88) + C

12 sin− 1(8x − 99) + C

13 sin− 7(9x − 88) + C

12 sin− 1(9x − 88) + C

https://dl.doubtnut.com/l/_8n8ouAC0N66n
https://dl.doubtnut.com/l/_qm9Wp2RmIslc


121. Find 

Watch Video Solution

∫
dx

(x + 1)(x + 2)

122. Find 

Watch Video Solution

∫ dx
3x − 2

(x + 1)2(x + 3)

123. Find 

Watch Video Solution

∫ dx
x2

(x2 + 1)(x2 + 4)

124. Find ∫ dϕ
(3 sinϕ − 2)cos ϕ

5 − cos2 ϕ − 4 sinϕ

https://dl.doubtnut.com/l/_qm9Wp2RmIslc
https://dl.doubtnut.com/l/_35qz3O7v1VY7
https://dl.doubtnut.com/l/_4jyy1TQFdEuJ
https://dl.doubtnut.com/l/_DcM4yrzqKpGF
https://dl.doubtnut.com/l/_zA65t9tGzBdf


Watch Video Solution

125. Find the following integrals. 

Watch Video Solution

∫ dx
x2 + x + 1

(x + 2)(x2 + 1)

126. Evaluate the integrals 

Watch Video Solution

∫ dx
x

(x + 1)(x + 2)

127. Integrate the follwing functions: 

Watch Video Solution

1

x2 − 9

https://dl.doubtnut.com/l/_zA65t9tGzBdf
https://dl.doubtnut.com/l/_GCBVCBGioCFt
https://dl.doubtnut.com/l/_3VCZIACX1I2B
https://dl.doubtnut.com/l/_nPCGMZ5Bmx9f
https://dl.doubtnut.com/l/_KcMq4DsTDG8e


128. Integrate the following 

Watch Video Solution

3x − 1

(x − 1)(x − 2)(x − 3)

129. integrate the rational fraction 

Watch Video Solution

x

(x − 1)(x − 2)(x − 3)

130. Integrate the follwing functions: 

Watch Video Solution

2x

x2 + 3x + 2

131. Integrate the follwing functions: 

Watch Video Solution

1 − x2

x(1 − 2x)

https://dl.doubtnut.com/l/_KcMq4DsTDG8e
https://dl.doubtnut.com/l/_Gl0234GNmKc3
https://dl.doubtnut.com/l/_8cTrCflNhFW1
https://dl.doubtnut.com/l/_11ZoH4cDyT3h


132. Integrate the rational fraction 

Watch Video Solution

x

(x2 + 1)(x − 1)

133. Find 

Watch Video Solution

∫ dx
x

(x − 1)
2
(x + 2)

134. integrate the rational fraction 

Watch Video Solution

3x + 5

x3 − x2 − x + 1

135. integrate the rational fraction 
2x − 3

(x2 − 1)(2x + 3)

https://dl.doubtnut.com/l/_D1G1d22xbA4n
https://dl.doubtnut.com/l/_NJ0o6TlQFRo8
https://dl.doubtnut.com/l/_N5bZnXwJ7UvO
https://dl.doubtnut.com/l/_5knPiKemK3rB


Watch Video Solution

136. integrate the rational fraction 

Watch Video Solution

5x

(x + 1)(x2 − 4)

137. Integrate the follwing functions: 

Watch Video Solution

x3 + x + 1

x2 − 1

138. Integrate the follwing functions: 

Watch Video Solution

2

(1 − x)(1 + x2)

https://dl.doubtnut.com/l/_5knPiKemK3rB
https://dl.doubtnut.com/l/_xD14QAlT2r5W
https://dl.doubtnut.com/l/_qgrjDCRVHsAU
https://dl.doubtnut.com/l/_BbJFVT7tTbju


139. Integrate the follwing functions: 

Watch Video Solution

3x − 1

(x + 2)2

140. Integrate the follwing functions: 

Watch Video Solution

1

x4 − 1

141. Integrate the follwing functions: 

Watch Video Solution

1

x(xn + 1)

142. Integrate the rational fraction 

Watch Video Solution

cos x

(1 − sinx)(2 − sinx)

https://dl.doubtnut.com/l/_4eJgmMQvg9Q3
https://dl.doubtnut.com/l/_MKABjps1m70j
https://dl.doubtnut.com/l/_ArfoNVb4xgfz
https://dl.doubtnut.com/l/_lX2JBInkhVAq


143. Integrate the follwing functions: 

Watch Video Solution

(x2 + 1)(x2 + 2)

(x2 + 3)(x2 + 4)

144. Integrate the follwing functions: 

Watch Video Solution

2x

(x2 + 1)(x2 + 3)

145. Integrate the follwing functions: 

Watch Video Solution

1

x(x4 − 1)

146. Integrate the follwing functions: 

Watch Video Solution

1

ex − 1

https://dl.doubtnut.com/l/_ds7KWMBcJ2Ri
https://dl.doubtnut.com/l/_uTOdjmehgUF8
https://dl.doubtnut.com/l/_DQA0HbLL2nUu
https://dl.doubtnut.com/l/_5YXDvXZWaKXJ


147. Find 

A. log |(x-1)^2/(x-2)|+C'

B. log |(x-2)^2/(x-1)|+C'

C. log |((x-10/(x-2))^2|+C'

D. log |(x-1)(x-2) 7+C'

Answer: C

Watch Video Solution

∫
xdx

(x − 1)(x − 2)

148. Choose the correct answer  =

A. log .|x|-1/2 log _0(x^2+i)+C'

B. log (x]+1/2 log (x^2+1)+c'

∫
dx

x(x2 + 1)

https://dl.doubtnut.com/l/_5YXDvXZWaKXJ
https://dl.doubtnut.com/l/_PmO51dUUfLiF
https://dl.doubtnut.com/l/_eTpRjWZikBno


C. -log |x|+1/2 log (x^2+1)+C'

D. 1/2 log |x|+log (x^2+1)+C'

Answer: A

Watch Video Solution

149. Find 

Watch Video Solution

∫x cos xdx

150. Find 

Watch Video Solution

∫(logxdx)

https://dl.doubtnut.com/l/_eTpRjWZikBno
https://dl.doubtnut.com/l/_bJJCfdbY4eGm
https://dl.doubtnut.com/l/_vX6472kJ18z0


151. Find 

Watch Video Solution

∫xexdx

152. Find 

Watch Video Solution

∫ dx
x sin− 1 x

√1 − x2

153. Find 

Watch Video Solution

∫ex sinxdx

154. Find 

Watch Video Solution

∫ex(tan− 1 x + )dx
1

1 + x2

https://dl.doubtnut.com/l/_itXgDXU9t7KI
https://dl.doubtnut.com/l/_YDHmOOzEtv6K
https://dl.doubtnut.com/l/_7okzRtBeYLuS
https://dl.doubtnut.com/l/_kGf0WpjNdhdV


155. Integrate the function 

Watch Video Solution

x sinx

156. Integrate the following functions 

Watch Video Solution

x sin 3x

157. Integrate the following functions 

Watch Video Solution

x2ex

158. Integrate the following functions 

Watch Video Solution

x logx

https://dl.doubtnut.com/l/_3A3k1Ql3DJfU
https://dl.doubtnut.com/l/_ToN02aBfPM61
https://dl.doubtnut.com/l/_dDbqHSQijQkc
https://dl.doubtnut.com/l/_5E1Anot2ueyN


159. Integrate the following functions 

Watch Video Solution

x log 2x

160. Integrate the following functions 

Watch Video Solution

x2 logx

161. Integrate the following functions 

Watch Video Solution

x sin− 1 x

162. Integrate the following functions 

Watch Video Solution

x tan− 1 x

https://dl.doubtnut.com/l/_R1ILQOJk7UXn
https://dl.doubtnut.com/l/_D6LCBjU1tdSb
https://dl.doubtnut.com/l/_ULOxGbtZRc63
https://dl.doubtnut.com/l/_gYEiq3dG6bWM


163. Integrate the following functions 

Watch Video Solution

x cos − 1 x

164. Integrate the following functions 

Watch Video Solution

(sin− 1 x)
2

165. Integrate the following functions 

Watch Video Solution

x cos − 1 x

√1 − x2

166. Integrate the following functions 

Watch Video Solution

x sec2 x

https://dl.doubtnut.com/l/_14kjqeilFrLa
https://dl.doubtnut.com/l/_UAWiXOqybagh
https://dl.doubtnut.com/l/_8FVNtevq5zHA
https://dl.doubtnut.com/l/_mNt7l3gErJc8


167. Integrate the following functions 

Watch Video Solution

tan− 1 x

168. Integrate the following functions 

Watch Video Solution

x(logx)2

169. Integrate the following functions 

Watch Video Solution

(x2 + 1)logx

170. Integrate the function 

Watch Video Solution

ex(sinx + cos x)

https://dl.doubtnut.com/l/_QnlaNd02ZNnl
https://dl.doubtnut.com/l/_x1KRByKdY0qh
https://dl.doubtnut.com/l/_xP0zKsekELCp
https://dl.doubtnut.com/l/_QVU2OwfoxJ6p


171. Integrate the following functions 

Watch Video Solution

xex

(1 + x)2

172. Integrate the following functions 

Watch Video Solution

ex( )
1 + sinx

1 + cos x

173. Integrate the following functions 

Watch Video Solution

ex( − )
1

x

1

x2

174. Integrating the following functions 

Watch Video Solution

(x − 3)ex

(x − 1)
3

https://dl.doubtnut.com/l/_uHhUrk4QtoSt
https://dl.doubtnut.com/l/_wKeFf8jjbhuz
https://dl.doubtnut.com/l/_RDKJrmjZ6VHe
https://dl.doubtnut.com/l/_yHI98HWsaZJy


175. Integrate the following functions 

Watch Video Solution

e2x sinx

176. Integrate the following functions 

Watch Video Solution

sin− 1( )
2x

1 + x2

177. Choose the correct answer  =

A. '1/3 e^x^3+C'

B. 1/3 e^x^2+C'

C. 1/2^x^3+C'

D. 1/2 e^x^2+C'

∫x2ex
3

dx

https://dl.doubtnut.com/l/_yHI98HWsaZJy
https://dl.doubtnut.com/l/_3e8I2aMPFNf2
https://dl.doubtnut.com/l/_9A2IEBZ5Ri1V
https://dl.doubtnut.com/l/_LXcYPdXsPpGb


Answer: A

Watch Video Solution

178.  equals A)  B)

 C)  D)

A. e '^x cos x+C'

B. e^x sec x+C'

C. 'e^x sin x+c'

D. e^x tan x+C'

Answer: B

Watch Video Solution

∫ex secx(1 + tanx)dx ex cos x + C

ex secx + C ex sinx + C ex tanx + C

https://dl.doubtnut.com/l/_LXcYPdXsPpGb
https://dl.doubtnut.com/l/_EtnsUFV95cKU


179. Find 

Watch Video Solution

∫√x2 + 2x + 5dx

180. Find 

Watch Video Solution

∫√3 − 2x − x2dx

181. Integrate the function 

Watch Video Solution

√4 − x2

182. Integrate the function 

Watch Video Solution

√1 − 4x2

https://dl.doubtnut.com/l/_5lqjPiyPZbz7
https://dl.doubtnut.com/l/_ScWdXiG6ElQd
https://dl.doubtnut.com/l/_ux88QTVcpchf
https://dl.doubtnut.com/l/_jZ7l65QQw2aQ


183. Integrate the function 

Watch Video Solution

√x2 + 4x + 6dx

184. Integrate the function 

Watch Video Solution

√x2 + 4x + 1

185. Integrate the function 

Watch Video Solution

√1 − 4x − x2dx

186. Integrate the function 

Watch Video Solution

√x2 + 4x − 5

https://dl.doubtnut.com/l/_gp9d0ofSgLmL
https://dl.doubtnut.com/l/_QUlDjewwY4ln
https://dl.doubtnut.com/l/_wFzBSxKfMag1
https://dl.doubtnut.com/l/_dxkTiTBAFLTa


187. Integrate the function 

Watch Video Solution

√1 + 3x − x2

188. Integrate the function 

Watch Video Solution

√x2 + 3x

189. Integrate the function 

Watch Video Solution

√1 +
x2

9

190. Choose the correct answer  is equal to A)

 B)  C)

∫√1 + x2dx

√1 + x2 + log∣
∣x + √1 + x2∣

∣ + C
x

2

1

2
(1 + x2) + C

2

3

3
2

https://dl.doubtnut.com/l/_0KKMTvmuFLFc
https://dl.doubtnut.com/l/_a1soklZY9LaW
https://dl.doubtnut.com/l/_IwjyJu8yRfdZ
https://dl.doubtnut.com/l/_6tk2lyBrxths


 D) 

A. x/2 sqrt(1+x^2)+1/2 log |x+sqrt(1+x^2)|+C'

B. 2/3(1+x^2)^(3 / 2)+C'

C. 3/2 x(1+x^2)^(3 / 2)+C'.

D. ' x^2/2 sqrt(1+x^2)+1/2 x^2 log |x+sqrt(1+x^2)|+C'

Answer: A

Watch Video Solution

x(1 + x2) + C
3

2

3
2

√1 + x2 + x2 log∣
∣x + √1 + x2∣

∣ + C
x2

2

1

2

191. is equal to


A)




B)

∫√x2 − 8x + 7dx

(x − 4)√x2 − 8x + 7 + 9 log∣
∣x − 4 + √x2 − 8x + 7∣

∣ + C
1

2

https://dl.doubtnut.com/l/_6tk2lyBrxths
https://dl.doubtnut.com/l/_xaRT53kk6UkF


C)

D)

A. 1/2(x-4) sqrt(x^2-8 x+7)+9 log |x-4+sqrt(x^2-8 x+7)|+C'

B. 1/2(x-4) sqrt(x^2-8 x+7)+9 log | x+4+sqrt(x^2-8 x+7)+C'

C. 1/2(x-4) sqrt(x^2-8 x+7)+3 sqrt(2) log | x-4+sqrt(x^2-8

x+7)+C'

D. 12(x-4) sqrt(x^2-8 x+7)-9/2 log x-4+sqrt(x^2-8 x+7)+C'

Answer: D

Watch Video Solution

(x − 4)√x2 − 8x + 7 + 9 log ∣ x + 4 + √x2 − 8x + 7 + C
1

2

(x − 4)√x2 − 8x + 7 + 3√2 log ∣ x − 4 + √x2 − 8x + 7 + C
1

2

(x − 4)√x2 − 8x + 7 − log∣
∣x − 4 + √x2 − 8x + 7∣

∣ + C
1

2

9

2

https://dl.doubtnut.com/l/_xaRT53kk6UkF


192. Evaluate  


as the limit of a sum

Watch Video Solution

∫
2

0
(x2 + 1)dx

193. Evaluate  as limit of a sum.

Watch Video Solution

∫
2

0
exdx

194. Evaluate the following definite integrals as limits of sums.

Watch Video Solution

∫
b

a

xdx

https://dl.doubtnut.com/l/_TTxAY7PyFGo6
https://dl.doubtnut.com/l/_njRrs0e2NEj0
https://dl.doubtnut.com/l/_JXw1mSi4DpCn


195. Evaluate the following definite integrals as limit of a sum

Watch Video Solution

∫
5

0
(x + 1)dx

196. Evaluate the following definite integrals as limits of sums.

Watch Video Solution

∫
3

2

x2dx

197. Evaluate the following definite integrals as limits of sums.

Watch Video Solution

∫
4

1
(x2 − x)dx

https://dl.doubtnut.com/l/_eLRryRMrWLbc
https://dl.doubtnut.com/l/_e7XUz7aXr0Sa
https://dl.doubtnut.com/l/_lzhNclxErpGq


198. Evaluate the following definite integrals as limits of sums.

Watch Video Solution

∫
1

− 1
exdx

199. Evaluate the following definite integrals as limits of sums.

Watch Video Solution

∫
4

0

(x + e2x)dx

200. Evaluate the following integrals: 

Watch Video Solution

∫
9

4

dx
√x

(30 − x )
23

2

https://dl.doubtnut.com/l/_kesJ1HlfQRP9
https://dl.doubtnut.com/l/_YkVJ6FfqI4X9
https://dl.doubtnut.com/l/_bqLHRXyxYJjs


201. Evaluate the following integrals: 

Watch Video Solution

∫
1

− 1
(x + 1)dx

202. Evaluate the following integrals: 

Watch Video Solution

∫
3

2

dx
1

x

203. Evaluate the definite integral 

Watch Video Solution

∫
2

1
(4x3 − 5x2 + 6x + 9)dx

204. Evaluate the following integrals: 

Watch Video Solution

∫
0

sin 2xdx

π

4

https://dl.doubtnut.com/l/_p941k0MY4w4O
https://dl.doubtnut.com/l/_DA7CSMe2hGPl
https://dl.doubtnut.com/l/_d47JvMXsj2iG
https://dl.doubtnut.com/l/_avWtSC7GijuA


205. Evaluate the definite integral 

Watch Video Solution

∫
0

cos 2xdx

π

2

206. Evaluate the following integrals: 

Watch Video Solution

∫
5

4
exdx

207. Evaluate the following integrals: 

Watch Video Solution

∫
0

tanxdx

π

4

208. Evaluate the following integrals: 

W h Vid S l i

∫ cos ecxdx

π

4

π

6

https://dl.doubtnut.com/l/_avWtSC7GijuA
https://dl.doubtnut.com/l/_6p2XygnPI2GV
https://dl.doubtnut.com/l/_GFrXuw6fxInG
https://dl.doubtnut.com/l/_34vFU8SXDKqS
https://dl.doubtnut.com/l/_sRETFw3h8lI8


Watch Video Solution

209. Evaluate the following integrals: 

Watch Video Solution

∫
1

0

dx

√1 − x2

210. Evaluate the following integrals: 

Watch Video Solution

∫
1

0

dx

1 + x2

211. Evaluate the definite integral 

Watch Video Solution

∫
3

2

dx

x2 − 1

https://dl.doubtnut.com/l/_sRETFw3h8lI8
https://dl.doubtnut.com/l/_YRSjqqtlG0Vp
https://dl.doubtnut.com/l/_2wJSLaBq7NMb
https://dl.doubtnut.com/l/_D4G0Ug747FXD


212. Using properties evaluate the following definite integrals

Watch Video Solution

∫
0

cos2 xdx

π

2

213. Evaluate the following integrals: 

Watch Video Solution

∫
3

2
( )dx

x

x2 + 1

214. Evaluate the definite integral 

Watch Video Solution

∫
1

0
dx

2x + 3

5x2 + 1

215. Evaluate the definite integral ∫
1

0

xex
2
dx

https://dl.doubtnut.com/l/_vWDZUbdJ3Zoy
https://dl.doubtnut.com/l/_ek6gNjqx8mA0
https://dl.doubtnut.com/l/_EMSQdD4vqB20
https://dl.doubtnut.com/l/_H3wyYCS77ghh


Watch Video Solution

216. Evaluate the following integrals: 

Watch Video Solution

∫
2

1

dx
5x2

x2 + 4x + 3

217. Evaluate the following integrals: 

Watch Video Solution

∫
0

(2 sec2 x + x3 + 2)dx

π

4

218. Evaluate the following integrals:

Watch Video Solution

∫
π

0
sin2( ) − cos2( )dx

x

2
x

2

https://dl.doubtnut.com/l/_H3wyYCS77ghh
https://dl.doubtnut.com/l/_SCFctiXefymn
https://dl.doubtnut.com/l/_sa7J1tTYiLyB
https://dl.doubtnut.com/l/_dcMMKoB4SLi4


219. Evaluate the following integrals: 

Watch Video Solution

∫
2

0
dx

6x + 3

x2 + 4

220. Evaluate the following integrals: 

Watch Video Solution

∫
1

0
(xex + sin( ))dx

πx

4

221. equals a)  b)  c)  d)

A. pi/3'

B. 2 pi/3'

C. pi/6'

D. pi/(12)'

∫
√3

1

dx

1 + x2

π

3

2π

3

π

6

π

12

https://dl.doubtnut.com/l/_OKzxV7ZRn9TM
https://dl.doubtnut.com/l/_ZOy98R0leaSg
https://dl.doubtnut.com/l/_RPONQcfBBtB8


Answer: D

Watch Video Solution

222. Choose the correct answer. 


a)  b)  c)  d)

A. 'pi/6'

B. pi/(12)'

C. pi/(24)'

D. 'pi/4'.

Answer: C

Watch Video Solution

∫
0

2
3 dx

4 + 9x2

π

6

π

12

π

24

π

4

https://dl.doubtnut.com/l/_RPONQcfBBtB8
https://dl.doubtnut.com/l/_vbdtx4hkDMvG
https://dl.doubtnut.com/l/_73D8oxqi2k2J


223. Evaluate 

Watch Video Solution

∫
1

− 1
5x4√x5 + 1dx

224. Evaluate 

Watch Video Solution

∫
1

0

dx
tan− 1 x

1 + x2

225. Evaluate the following definite integrals 

Watch Video Solution

∫
1

0
dx

x

x2 + 1

226. Evaluate the following definite integrals

Watch Video Solution

∫
0

√sinϕ cos5 ϕdϕ

π

2

https://dl.doubtnut.com/l/_73D8oxqi2k2J
https://dl.doubtnut.com/l/_OF9KRb8R78R5
https://dl.doubtnut.com/l/_Txli2RZ6oA1z
https://dl.doubtnut.com/l/_udwJb4l3qdm7


227. Evaluate the following definite integrals

Watch Video Solution

∫
1

0
sin− 1( )dx

2x

1 + x2

228. Evaluate the integral 

Watch Video Solution

∫
2

0
x√x + 2dx

229. Find the following integrals. 

Watch Video Solution

∫
0

dx

π

2 sinx

1 + cos2 x

https://dl.doubtnut.com/l/_udwJb4l3qdm7
https://dl.doubtnut.com/l/_f7UbVt48x9R5
https://dl.doubtnut.com/l/_C1GnjKT4bGXL
https://dl.doubtnut.com/l/_uP0ZrHLrUbhh
https://dl.doubtnut.com/l/_iLKwXCOLzM69


230. Evaluate the integral 

Watch Video Solution

∫
2

0

dx

x + 4 − x2

231. Evaluate the integral 

Watch Video Solution

∫
1

− 1

dx

x2 + 2x + 5

232. Evaluate the following definite integrals

Watch Video Solution

∫
2

1

( − )e2xdx
1

x

1

2x2

233. Choose the correct answer.  =∫
1

dx
1
3

(x − x3)
1
3

x4

https://dl.doubtnut.com/l/_iLKwXCOLzM69
https://dl.doubtnut.com/l/_Huii4egsGmeO
https://dl.doubtnut.com/l/_B7iQlIyDcPEM
https://dl.doubtnut.com/l/_06MDM3L2tkmF


A. 6

B. 0

C. 3

D. 4

Answer: A

Watch Video Solution

234. If f(x) = , then find


A. cos x+x sin x'

B. 'x sin x'

C. x cos x'

∫
x

0
t sin tdt

f ′ (x)

https://dl.doubtnut.com/l/_06MDM3L2tkmF
https://dl.doubtnut.com/l/_D7JJHE8RqQ3W


D. sin x+x cos x'

Answer: B

Watch Video Solution

235. Evaluate 

Watch Video Solution

∫
2

− 1

∣∣x
3 − x∣∣dx

236. Evaluate 

Watch Video Solution

∫
−

sin2 xdx

π

4

π

4

237. Evaluate ∫
π

0
dx

x sinx

1 + cos2 x

https://dl.doubtnut.com/l/_D7JJHE8RqQ3W
https://dl.doubtnut.com/l/_XjFZDZHKkSzi
https://dl.doubtnut.com/l/_8DUW7RhJAgdw
https://dl.doubtnut.com/l/_tFShDRqMnT01


Watch Video Solution

238. Evaluate 

Watch Video Solution

∫
1

− 1

sin5 x cos4 xdx

239. Find the value of 

Watch Video Solution

∫
0

dx

π

2 sin4 x

sin4 x + cos4 x

240. Evaluate 

Watch Video Solution

∫

π

3

π

6

dx

1 + √tanx

https://dl.doubtnut.com/l/_tFShDRqMnT01
https://dl.doubtnut.com/l/_6RBZ8jSLvdJs
https://dl.doubtnut.com/l/_zHL2aLJuh9gh
https://dl.doubtnut.com/l/_H7tZy6jS8BwC
https://dl.doubtnut.com/l/_2sdJgzDFoTik


241. Find 

Watch Video Solution

∫
0

log sinxdx

π

2

242. By using properties of definite integrals, evaluate the

integrals 

Watch Video Solution

∫
0

cos2 xdx

π

2

243. By using properties of definite integrals, evaluate the

integrals 

Watch Video Solution

∫
0

dx

π

2 √sinx

√sinx + √cos x

https://dl.doubtnut.com/l/_2sdJgzDFoTik
https://dl.doubtnut.com/l/_mipg95qFGwP9
https://dl.doubtnut.com/l/_29DidQOuACU8


244. Using properties evaluate the following definite integrals

Watch Video Solution

∫
0

dx

π

2 sin x
3
2

sin x + cos x
3
2

3
2

245. Using properties evaluate the following definite integrals

Watch Video Solution

∫
0

dx

π

2 cos5 x

sin5 x + cos5 x

246. Evaluate the following 

Watch Video Solution

∫
5

− 5

|x + 2|dx

https://dl.doubtnut.com/l/_sNaqfH2cos4W
https://dl.doubtnut.com/l/_3FcHxVpNIilo
https://dl.doubtnut.com/l/_vXUX2J8G5fEJ


247. Using properties evaluate the following definite integrals, 

evaluate the following: 

Watch Video Solution

∫
8

2
|x − 5|dx

248. Using properties evaluate the following definite integrals,

evaluate the following: 

Watch Video Solution

∫
1

0

x(1 − x)ndx

249. Evaluate. 

Watch Video Solution

∫
0

log(1 + tanx)dx

π

4

https://dl.doubtnut.com/l/_zxsnQXoE57d4
https://dl.doubtnut.com/l/_TbDHKyrYXbyE
https://dl.doubtnut.com/l/_QJ6AO2iJOstq


250. By using properties of definite integrals, evaluate the

integrals 

Watch Video Solution

∫
2

0
x(√2 − x)dx

251. Using properties evaluate the following definite integrals, 

evaluate the following: 

Watch Video Solution

∫
0

(2 log sinx − log sin 2x)dx

π

2

252. Using properties evaluate the following definite integrals, 

evaluate the following: 

Watch Video Solution

∫
−

sin2 xdx

π

2

π

2

https://dl.doubtnut.com/l/_p4hKImU0uphb
https://dl.doubtnut.com/l/_YeqX0A9BRwYj
https://dl.doubtnut.com/l/_WcdJVJdI90FO
https://dl.doubtnut.com/l/_ciBEXHBqkOZB


253. By using properties of definite integrals, evaluate the

integrals 

Watch Video Solution

∫
π

0
dx

x

1 + sinx

254. Evaluate the following: 

Watch Video Solution

∫
−

sin7 xdx

π

2

π

2

255. Using properties evaluate the following definite integrals, 

evaluate the following: 

Watch Video Solution

∫
2π

0

cos5 xdx

https://dl.doubtnut.com/l/_ciBEXHBqkOZB
https://dl.doubtnut.com/l/_CFZLYqK2cloA
https://dl.doubtnut.com/l/_05My4CiLlANV


256. Using properties evaluate the following definite integrals, 

evaluate the following: 

Watch Video Solution

∫
0

dx

π

2 sinx − cos x

1 + sinx cos x

257. Using properties evaluate the following definite integrals, 

evaluate the following: 

Watch Video Solution

∫
a

0
dx

√x

√x + √a − x

258. Using properties evaluate the following definite integrals, 

evaluate the following: 

Watch Video Solution

∫
4

0
|x − 1|dx

https://dl.doubtnut.com/l/_BdW1nyNKF9oB
https://dl.doubtnut.com/l/_z9Vj3r1xwgZE
https://dl.doubtnut.com/l/_vvX7nuNDxMIo
https://dl.doubtnut.com/l/_tNJIRAIZxGIf


259. Show that , if  and  are

defined as  and 

Watch Video Solution

∫
a

0

f(x)g(x)dx = 2∫
a

0

f(x)dx f g

f(x) = f(a − x) g(x) + g(a − x) = 4

260. Choose the correct answer

 =

A. 0

B. 2

C. pi'

D. 1

Answer: C

Watch Video Solution

∫
−

(x3 + x cos x + tan5 x + 1)dx

π

2

π

2

https://dl.doubtnut.com/l/_tNJIRAIZxGIf
https://dl.doubtnut.com/l/_dbJzXSYotoeU


261. The value of  is a)  b)  c)  d)

A. 2

B. 3/2'

C. 0

D. -2

Answer: C

Watch Video Solution

∫
0

log( )dx

π

2 4 + 3 sinx

4 + 3 cos x
2

3

2
0 −2

262. Find 

Watch Video Solution

∫(cos 6x√1 + sin 6x)dx

https://dl.doubtnut.com/l/_WMhkdkGAXYOY
https://dl.doubtnut.com/l/_T4ntoh9Tz41n


263. Find 

Watch Video Solution

∫ dx
(x4 − x)

1
4

x5

264. Find 

Watch Video Solution

∫ dx
x4

(x − 1)(x2 + 1)

265. Find 

Watch Video Solution

∫(log(logx) + )dx
1

(logx)
2

266. Find 

Watch Video Solution

∫ dx
sin 2x cos 2x

√9 − cos4(2x)

https://dl.doubtnut.com/l/_maCWkdg7Spo2
https://dl.doubtnut.com/l/_KUXGByRRkdIO
https://dl.doubtnut.com/l/_fEEk569MGs2d
https://dl.doubtnut.com/l/_qra1f76JLFzH


267. Prove that 

Watch Video Solution

∫
π

0

dx =
x

a2 cos2 x + b2 sin2 x

π2

2ab

268. integrate the functions 

Watch Video Solution

1

x − x3

269. integrate the functions 

Watch Video Solution

1

√x + a + √x + b

270. Integrate the function 
1

x√ax − x2

https://dl.doubtnut.com/l/_qra1f76JLFzH
https://dl.doubtnut.com/l/_o8xAfPFz9rbl
https://dl.doubtnut.com/l/_55cRdOtbogv5
https://dl.doubtnut.com/l/_cZRKcyEyIlRm
https://dl.doubtnut.com/l/_bHQg05xq2vZf


Watch Video Solution

271. Integrate the function 

Watch Video Solution

1

x2(x4 + 1)
3
4

272. Integrate the functions 

Watch Video Solution

1

x + x
1
2

1
3

273. Integrate the functions 

Watch Video Solution

5x

(x + 1)(x2 + 9)

https://dl.doubtnut.com/l/_bHQg05xq2vZf
https://dl.doubtnut.com/l/_oj2L5PjCFnsu
https://dl.doubtnut.com/l/_SYpmQHVNqk8k
https://dl.doubtnut.com/l/_7TFzV4fV0zN8
https://dl.doubtnut.com/l/_wWmntv29elER


274. Integrate the following 

Watch Video Solution

sinx

sin(x − a)

275. Integrate the following functions w.r.t.x 

Watch Video Solution

e5 logx − e4 logx

e3 logx − e2 logx

276. Integrate the function 

Watch Video Solution

cos x

√4 − sin2 x

277. Integrate the function 

W h Vid S l i

sin8 x − cos8 x

1 − 2 sin2 x cos2 x

https://dl.doubtnut.com/l/_wWmntv29elER
https://dl.doubtnut.com/l/_YtYjQmUVtjvS
https://dl.doubtnut.com/l/_I6O5vU4DUFW2
https://dl.doubtnut.com/l/_h1MHJbP5RylY


Watch Video Solution

278. Integrate the functions 

Watch Video Solution

1

cos(x + a)cos(x + b)

279. Integrate the following functions 

Watch Video Solution

x3

√1 − x8

280. integrate the following functions 

Watch Video Solution

ex

(1 + ex)(2 + ex)

https://dl.doubtnut.com/l/_h1MHJbP5RylY
https://dl.doubtnut.com/l/_4U5fWL2Em2dR
https://dl.doubtnut.com/l/_gWn365wDsqLZ
https://dl.doubtnut.com/l/_z1YcO6xzIPsk


281. Integrate the function 

Watch Video Solution

1

(x2 + 1)(x2 + 4)

282. Integrate the function 

Watch Video Solution

cos3 xelog sin x

283. Integrate the function 

Watch Video Solution

e3 logx(x4 + 1)
− 1

284. Integrate the function 

Watch Video Solution

f' (ax + b)[f(ax + b)]
n

https://dl.doubtnut.com/l/_uSWWzPd0ceAP
https://dl.doubtnut.com/l/_Vg9sAzcnNxuB
https://dl.doubtnut.com/l/_LtKuS2qfXsD5
https://dl.doubtnut.com/l/_P83hPJPJci6e


285. Integrate the function 

Watch Video Solution

ex
2 + sin 2x

1 + cos 2x

286. Integrate the function 

Watch Video Solution

x2 + x + 1

(x + 1)
2
(x + 2)

287. Integrate the function 

Watch Video Solution

tan− 1 √
1 − x

1 + x

https://dl.doubtnut.com/l/_pDnE8FQD1CDL
https://dl.doubtnut.com/l/_lJidQaltIaUx
https://dl.doubtnut.com/l/_nFk0AJ79uzC0


288. integrate the functions 

Watch Video Solution

√x2 + 1(log(x2 + 1) − 2 logx)

x4

289. Evaluate the definite integral 

Watch Video Solution

∫
1

0

dx

√1 + x − √x

290. Prove the following: = 

Watch Video Solution

∫
3

1

dx

x2(x + 1)
+ log( )

2

3

2

3

291. Prove the following: ∫
1

0
xexdx = 1

https://dl.doubtnut.com/l/_hth4poUaiWT4
https://dl.doubtnut.com/l/_mJ5WDpHwPSW4
https://dl.doubtnut.com/l/_qOvt0TmBJ6BN
https://dl.doubtnut.com/l/_moWrchJvM8m4


Watch Video Solution

292. Prove the following  = 0

Watch Video Solution

∫
1

− 1

x17 cos4 xdx

293. prove 

Watch Video Solution

∫
0

sin3 xdx =

π

2 2

3

294. prove 

Watch Video Solution

∫
0

2 tan3 xdx = 1 − log 2

π

4

https://dl.doubtnut.com/l/_moWrchJvM8m4
https://dl.doubtnut.com/l/_iAONJ5I4ZdD3
https://dl.doubtnut.com/l/_7zwWaDwpKImD
https://dl.doubtnut.com/l/_aYBXhmrm9N9f


295. Prove that 

Watch Video Solution

∫
1

0
sin− 1 xdx = ( ) − 1

π

2

296. Evaluate  as the limit of a sum.

Watch Video Solution

∫
1

0
e2 − 3xdx

297.  is equal to a)  b)

 c)  d)

A. tan ^(-1)(e^x)+C^circ'

B. tan '^(-1)(e^-x)+C'

C. log (e^x-e^-x)+C'

D. log (e^x+e^-x)+C'

∫
dx

ex + e−x
tan− 1(ex) + C

tan− 1(e−x) + C log(ex − e−x) + C log(ex + e−x) + C

https://dl.doubtnut.com/l/_xpf8RUiUj7Ti
https://dl.doubtnut.com/l/_jJ8I1XoOnh48
https://dl.doubtnut.com/l/_jdIYtuanVDjr


Answer: A

Watch Video Solution

298.  is equal to a)  b)

 c)  d)

A. -1sin x+cos x+C'

B. log |sin x+cos x|+C'

C. log |sin x-cos x|+C'

D. 1(sin x+cos x)^2'

Answer: B

Watch Video Solution

∫ dx
cos 2x

(sinx + cos x)2
− + C

1

sinx + cos x

log|sinx + cos x| + C log|sinx − cos x| + C

1(sinx + cos x)2

https://dl.doubtnut.com/l/_jdIYtuanVDjr
https://dl.doubtnut.com/l/_D6XZgaDdOFVP


299. If f(a+b-x) = f(x), then  =

A. (a+b)/2 int_a^b f(b-x) d x'

B. (a+b)/2 int_a^b f(b+x) d x'

C. (a-b)/2 int_a^b f(x) d x'

D. (a+b)/2 int_a^b f(x) d x'

Answer: D

Watch Video Solution

∫
b

a

xf(x)dx

300. Choose the correct answer  =

A. 1

B. 0

∫
1

0
tan− 1( )dx

2x − 1

1 + x − x2

https://dl.doubtnut.com/l/_5VXvg9c2fz2V
https://dl.doubtnut.com/l/_wqH1qk8B1Ilj


C. -1'

D. pi/4'

Answer:

Watch Video Solution

301. Evaluate 

Watch Video Solution

∫ dx
5x + 1

x2 − 2x − 35

302. Evaluate the definite integral  as the limit of a

sum.

Watch Video Solution

∫
1

0

x2dx

https://dl.doubtnut.com/l/_wqH1qk8B1Ilj
https://dl.doubtnut.com/l/_ByRELwkRy8nr
https://dl.doubtnut.com/l/_4l4gDRFXtYHO
https://dl.doubtnut.com/l/_ZP87uBWktcEn


303. Evaluate 

Watch Video Solution

∫(x + )
2

dx
1

x

304. Evaluate 

Watch Video Solution

∫(2 + sinx + 3 cos x + ex + x)dx

305. Evaluate 

Watch Video Solution

∫ dx
sin4 x + cos4 x

sin2 x cos2 x

306. If  and  find 

Watch Video Solution

f' (x) = x3 −
2

x2
f(2) = 3 f(x)

https://dl.doubtnut.com/l/_ZP87uBWktcEn
https://dl.doubtnut.com/l/_VfkYl6V1h3zb
https://dl.doubtnut.com/l/_7lsxVPm2Ei5v
https://dl.doubtnut.com/l/_f2H2255bX9oz
https://dl.doubtnut.com/l/_PyExYgdB7zq9


307. Evaluate 

Watch Video Solution

∫(2x + 3)4
dx

308. Evaluate 

Watch Video Solution

∫ dx
sinx + cos x

√1 + sin 2x

309. Evaluate 

Watch Video Solution

∫( )dx
x

√x − 1

310. Evaluate 

Watch Video Solution

∫( )dx
sin √x

√x

https://dl.doubtnut.com/l/_PyExYgdB7zq9
https://dl.doubtnut.com/l/_sfFK4o59uGad
https://dl.doubtnut.com/l/_0oOtyi6DPXVG
https://dl.doubtnut.com/l/_JYIPX1EpBSj6


311. Evaluate 

Watch Video Solution

∫( )dx
x3

(x2 + 1)3

312. Evaluate 

Watch Video Solution

∫(x3cos x4dx)

313. Evaluate 

Watch Video Solution

∫(ex + e−x)
2
dx

314. Evaluate 

Watch Video Solution

∫
dx

ex − 1

https://dl.doubtnut.com/l/_JYIPX1EpBSj6
https://dl.doubtnut.com/l/_0gX4VGgieTFr
https://dl.doubtnut.com/l/_rfHwDs29Utwv
https://dl.doubtnut.com/l/_sTzsARNH9c6Z
https://dl.doubtnut.com/l/_dYlPKwg8FSfm


Watch Video Solution

315. Evaluate 

Watch Video Solution

∫( )dx
√tanx

2 sinx cos x

316. Evaluate 

Watch Video Solution

∫ dx
tan(sin− 1 x)

√1 − x2

317. Evaluate 

Watch Video Solution

∫(x√1 + x)dx

318. Evaluate ∫
dx

1 + 4 cos2 x

https://dl.doubtnut.com/l/_dYlPKwg8FSfm
https://dl.doubtnut.com/l/_JQtKsgNJBwzs
https://dl.doubtnut.com/l/_CZAkFOBfuY9U
https://dl.doubtnut.com/l/_YCkQZTyIbg0g
https://dl.doubtnut.com/l/_GgvgcSpofHSP


Watch Video Solution

319. Evaluate 

Watch Video Solution

∫
dx

x2 − 4x + 8

320. Evaluate 

Watch Video Solution

∫
dx

2x2 + 5x + 1

321. Evaluate 

Watch Video Solution

∫
dx

7 − 4x − 2x2

322. Evaluate ∫
dx

√16 − 6x − x2

https://dl.doubtnut.com/l/_GgvgcSpofHSP
https://dl.doubtnut.com/l/_N9k1g1dnIQ3Q
https://dl.doubtnut.com/l/_MUvX6Gye2mE0
https://dl.doubtnut.com/l/_VizXoGEdrzca
https://dl.doubtnut.com/l/_dkCEoARBZkuu


Watch Video Solution

323. Evaluate 

Watch Video Solution

∫
dx

√x2 − 4x + 2

324. Evaluate 

Watch Video Solution

∫ dx
x − 1

x2 − 5x + 6

325. Evaluate 

Watch Video Solution

∫ dx
x + 5

(x + 1)(x + 2)2

https://dl.doubtnut.com/l/_dkCEoARBZkuu
https://dl.doubtnut.com/l/_fHfxR8dhUREZ
https://dl.doubtnut.com/l/_JKzXosd8ucNY
https://dl.doubtnut.com/l/_WSoFWfdU4ASk


326. Evaluate 

Watch Video Solution

∫
xdx

1 + x + x2 + x3

327. Evaluate 

Watch Video Solution

∫
dx

(x2 + 4)(x2 + 9)

328. lntegrate the following function with respect to x,

Watch Video Solution

√1 + sinx

329. lntegrate the following function with respect to x, 

Watch Video Solution

e2x

ex + 1

https://dl.doubtnut.com/l/_axttsZj1oVQK
https://dl.doubtnut.com/l/_87gj5wKy26ih
https://dl.doubtnut.com/l/_7s8sb3aF4teB
https://dl.doubtnut.com/l/_kuiUMzGTuXMS


Watch Video Solution

330. lntegrate the following function with respect to x ,

Watch Video Solution

1

(1 + x2)tan− 1 x

331. lntegrate the following function with respect to x,

Watch Video Solution

sin(2 tan− 1 x)

1 + x2

332. lntegrate the following function with respect to x, 

Watch Video Solution

cos4 x

https://dl.doubtnut.com/l/_kuiUMzGTuXMS
https://dl.doubtnut.com/l/_8GF7D2qcvnK2
https://dl.doubtnut.com/l/_yT0vEGwW3r7x
https://dl.doubtnut.com/l/_HtIlagLA8oOc
https://dl.doubtnut.com/l/_5axIKHE18XSP


333. lntegrate the following function with respect to x,

Watch Video Solution

x2ex
3
cos(ex

3
)

334. lntegrate the following function with respect to x , 

Watch Video Solution

cot √x

2√x

335. lntegrate the following function with respect to x,

Watch Video Solution

tanx

log|secx|

https://dl.doubtnut.com/l/_5axIKHE18XSP
https://dl.doubtnut.com/l/_TaIqJ9iYHWoK
https://dl.doubtnut.com/l/_2PVwCBK0pqvo


336. lntegrate the following function with respect to x ,

Watch Video Solution

e√x.
1

2√x

337. lntegrate the following function with respect to x,

Watch Video Solution

cot(logx)

x

338. lntegrate the following function with respect to x ,

Watch Video Solution

ex + e−x

ex − e−x

https://dl.doubtnut.com/l/_ZDbxlHHWIHJ7
https://dl.doubtnut.com/l/_pK3p95Ly33Oa
https://dl.doubtnut.com/l/_dXMfnfTCqBkX


339. lntégrate the following functionis with respect to x 

Watch Video Solution

dx
cot x

√sinx

340. lntegrate the following function with respect to x ,

Watch Video Solution

x2

(2 + 3x3)3

341. lntegrate the following function with respect to x,

Watch Video Solution

1

x(1 + logx)

https://dl.doubtnut.com/l/_gTBt6mCENRFR
https://dl.doubtnut.com/l/_dmvphLgkgOYT
https://dl.doubtnut.com/l/_BtjFik10Hn9i
https://dl.doubtnut.com/l/_9DivczvHovzc


342. lntegrate the following function with respect to x ,

Watch Video Solution

sin3 x cos2 x

343. Find the integral 

Watch Video Solution

sin3(2x + 1)

344. lntégrate the following functions with respect to x 

Watch Video Solution

dx
sin3 x + cos3 x

sin2 x cos2 x

https://dl.doubtnut.com/l/_9DivczvHovzc
https://dl.doubtnut.com/l/_DFszvxcAQNsN
https://dl.doubtnut.com/l/_qzDFkO9C5S6x


345. lntégrate the following functions with respect to x 

Watch Video Solution

dx
cos √x

√x

346. lntegrate the following function with respect to x,

Watch Video Solution

cos 2x(cos x + sinx)
2

347. lntegrate the following function with respect to x,

Watch Video Solution

1

x2 + 2x + 2

https://dl.doubtnut.com/l/_XDs9ijY01pzk
https://dl.doubtnut.com/l/_6ujSFtNnEioZ
https://dl.doubtnut.com/l/_ikMYMie1psnH


348. lntegrate the following function with respect to x ,

Watch Video Solution

x + 2

2x2 + 6x + 5

349. lntegrate the following function with respect to x ,

Watch Video Solution

1

(x + 2)2 + 1

350. integrate the function 

Watch Video Solution

5x − 2

1 + 2x + 3x2

https://dl.doubtnut.com/l/_kgnp3Ml5g7NT
https://dl.doubtnut.com/l/_6xyMPyIXIt4b
https://dl.doubtnut.com/l/_HjAjPYOSc4Dp


351. lntegrate the following function with respect to x ,

Watch Video Solution

1

2x2 + 3x + 5

352. lntegrate the following function with respect to x:

Watch Video Solution

1

x(x5 + 1)

353. Integrate the following functions 

Watch Video Solution

3x2

x6 + 1

https://dl.doubtnut.com/l/_VkYS6GZkRoVC
https://dl.doubtnut.com/l/_jqsisdQjtR5Z
https://dl.doubtnut.com/l/_wFubQYPCalx0


354. lntegrate the following function with respect to x:

Watch Video Solution

1

√2x − x2

355. lntegrate the following function with respect to x :

Watch Video Solution

1

√x2 − 3x + 2

356. lntégrate the following functions with respect to x 

dx

Watch Video Solution

1

√7 − 6x − x2

https://dl.doubtnut.com/l/_KAAzOl3EtPB8
https://dl.doubtnut.com/l/_oz9sSfpQBZ5o
https://dl.doubtnut.com/l/_pjiCcpcfgcw5


357. lntegrate the following function with respect to x:

Watch Video Solution

2x − 1

(x − 1)(x + 2)(x − 3)

358. Evaluate 

Watch Video Solution

∫ dx
x

(x − 1)(x + 2)
2

359. lntegrate the following function with respect to x :

Watch Video Solution

x3 cos 2x

360. lntegrate the following function with respect to x : x3ex

https://dl.doubtnut.com/l/_tErEnnSpz6P6
https://dl.doubtnut.com/l/_QYORvhMxrTOY
https://dl.doubtnut.com/l/_LwNmZetpHiiE
https://dl.doubtnut.com/l/_DdcyNwoIuTnx


Watch Video Solution

361. Integrate the function 

Watch Video Solution

ex(sinx + cos x)

362. lntegrate the following function with respect to x :

Watch Video Solution

ex(x + 1)

(x + 2)2

363. lntegrate the following function with respect to x :

Watch Video Solution

√4 − 9x2

https://dl.doubtnut.com/l/_DdcyNwoIuTnx
https://dl.doubtnut.com/l/_2PVAsxi3rTtB
https://dl.doubtnut.com/l/_oKlAVEHldV8a
https://dl.doubtnut.com/l/_W5jGmjrr8YnP


364. lntegrate the following function with respect to x:

Watch Video Solution

√9 − x2

365. lntegrate the following function with respect to x :

Watch Video Solution

√2x − x2

366. Evaluate  as the limit of a sum.

Watch Video Solution

∫
3

1
2xdx

367. 

Watch Video Solution

∫
4

0

(x − 1)dx

https://dl.doubtnut.com/l/_Gj6CjMqoPJcc
https://dl.doubtnut.com/l/_O7N5aEwh12jY
https://dl.doubtnut.com/l/_GfRwZSEHGNcS
https://dl.doubtnut.com/l/_NaWyHmXH0ddD


Watch Video Solution

368. 

Watch Video Solution

∫
2

0
exdx

369. Evaluate 

Watch Video Solution

∫
5

x

sinxdx

370. 

Watch Video Solution

∫
2

1
(4 − x2)dx

371. Evaluate ∫
5

2

x2dx

https://dl.doubtnut.com/l/_NaWyHmXH0ddD
https://dl.doubtnut.com/l/_hebJEWfQHBbV
https://dl.doubtnut.com/l/_MDmtJ1bbpDmN
https://dl.doubtnut.com/l/_WA3STyETwrqE
https://dl.doubtnut.com/l/_vzQINFVEvCb1


Watch Video Solution

372. Evaluate 

Watch Video Solution

∫
3

2
√xdx

373. Evaluate 

Watch Video Solution

∫
−

cos xdx

π

2

π

2

374. Evaluate 

Watch Video Solution

∫
1

0

x2exdx

https://dl.doubtnut.com/l/_vzQINFVEvCb1
https://dl.doubtnut.com/l/_nMEqpXdh19i2
https://dl.doubtnut.com/l/_4P55NyzwLvIM
https://dl.doubtnut.com/l/_eGKRdrwCJEMd


375. Evaluate 

Watch Video Solution

∫
0

sinx cos xdx

π

2

376. Evaluate 

Watch Video Solution

∫
7

3

dx
1

x2 + 5x + 6

377. 

Watch Video Solution

∫
5

0
x2dx

378. 

Watch Video Solution

∫
1

− 1
(x3 + 3x2 + 2x)dx

https://dl.doubtnut.com/l/_QvGGjrCr6YRQ
https://dl.doubtnut.com/l/_YuMogf69rdTd
https://dl.doubtnut.com/l/_3HEYgvVpj2DS
https://dl.doubtnut.com/l/_83Z2P3uwKEYa


379. 

Watch Video Solution

∫
0

sec2 xdx

π

4

380. Evaluate the following integrals: 

Watch Video Solution

∫
1

0

dx

1 + x2

381. 

Watch Video Solution

∫
x

1

dt
1

t

382. 

Watch Video Solution

∫
x

1
tan− 1 xdx

https://dl.doubtnut.com/l/_83Z2P3uwKEYa
https://dl.doubtnut.com/l/_mjtNxF67RPzR
https://dl.doubtnut.com/l/_VHjjvD4NhrEq
https://dl.doubtnut.com/l/_ILu1dSt1A0Bs
https://dl.doubtnut.com/l/_dsV3teEVOkeF


383. 

Watch Video Solution

∫
0

e−x sinxdx

π

3

384. Evaluate 

Watch Video Solution

∫
1

0

x√1 − x2dx

385. Evaluate the following definite integrals 

Watch Video Solution

∫
1

0

dx
x

x2 + 1

386. Evaluate ∫
2

1
dx

log(x + 1)

x + 1

https://dl.doubtnut.com/l/_dsV3teEVOkeF
https://dl.doubtnut.com/l/_PeXJnxZUOAU2
https://dl.doubtnut.com/l/_7ZLV9PlMqyn0
https://dl.doubtnut.com/l/_eH1tkFqPry4C
https://dl.doubtnut.com/l/_wxcIqod3sKNJ


Watch Video Solution

387. Evaluate 

Watch Video Solution

∫
0

sin7 xdx

π

2

388. Evaluate 

Watch Video Solution

∫
0

cos5 xdx

π

2

389. 

Watch Video Solution

∫
1

0
dx

(sin− 1 x)
3

√1 − x2

https://dl.doubtnut.com/l/_wxcIqod3sKNJ
https://dl.doubtnut.com/l/_TWeUllo7nDey
https://dl.doubtnut.com/l/_RlPPX9qRyWXN
https://dl.doubtnut.com/l/_9ZOT75xm0Gly


390. Evaluate 

Watch Video Solution

∫
−

cos7(2x)dx

π

4

π

4

391. Evaluate 

Watch Video Solution

∫ dx

π

3

π

6

√sinx

√sinx + √cos x

392. By using properties of definite integrals, evaluate the

integrals 

Watch Video Solution

∫
π

0

dx
x

1 + sinx

393. Evaluate ∫
0

log(tanx)dx

π

2

https://dl.doubtnut.com/l/_RIMFrWAoyki1
https://dl.doubtnut.com/l/_o88tt8BMlTSk
https://dl.doubtnut.com/l/_piV9nKM46fFu
https://dl.doubtnut.com/l/_pe8WjvpnQI0o


Watch Video Solution

394. Evaluate 

Watch Video Solution

∫
2

0
dx

√x

√x + √2 − x

395. 

Watch Video Solution

∫
− ( )

x sinxdx

π

2

π

2

396. 

Watch Video Solution

∫ dx

π

3

π

6

1

1 + √cot x

https://dl.doubtnut.com/l/_pe8WjvpnQI0o
https://dl.doubtnut.com/l/_DINTgFnBZyxn
https://dl.doubtnut.com/l/_7mpgPaJ9CL5k
https://dl.doubtnut.com/l/_h4g6kJiFHjWZ

